250-4 - BF &) SN0, ] BE=T 10:15 BaraERs 10:30 |
b=y BFES EFKHA )R EFEHHA BX FX FE = %8 5 SCE% Iz

— 9 Ik = <53 5 BRI 23 2B B BHE [ 1L ]
82 s B v myL BRE 3w B &% [ 10 ]
[1500miE - BF (B - 18 - BB RN, 2 BE=T 10:25 paraEsRs 10:40 |
B%E EFES EFKHA )R EFEHHA BX FX FE = Er3=) 5 SCE% Iz

1 24 LB B PESE YLS3TH BT 22 1E B [ 10 1
2 515 kB BB cr> @as —m@h D B[ il ]
3 507 BF B—  nc HALS BT T T il ]
4 T8 2R B WoEh #o<  fEBTh 26 @ m® F [ il ]
5 T fEAA BB cos e FERIESET 26 2 B [ 10 ]
[1500mzE - BF (1) SN, 3 mE=T7 10:35 BARARSRS 10:50 |
BE BFES BFKA INDIyIYAN BFHHA BX FX FE = E3=) %5 o Iz

1 1098 fEy BBE  <zmu w<s  BEW 21T ME M@ [ 10 ]
2 1252 WA @R veos oswtn A%EH 21 HE M [ 10 ]
3 1485 #EE 7P @ECx <o5n EEHET 21T ME M@ [ 10 ]
4 3013 N KBt #zocp rux @M 29 1®m B’ [ il ]
5 3019 Bl A s<ex &5 BT 29 1 [ 10 ]
6 3048 Il B} pporn sne  —FEH 29 1= [ 10 ]
[1500mzE - BF (50) RN, 4 BE=T 10:45 BARARSRS 11:00 |
BE BFES BFKA YDV BFHA BX FX FE = %8 55 SCER Bz

1 1060 FIEH FR Honus TalLes BEH 21 wE M@ [ 10 ]
2 1312 =# K& #3535 U3F —/m 21 FE A [ 11 ]
3 1069 /WK EBL  ChwEwn £h0>3  BEEH 21 FE A [ 1L 1
4 1377 %88 BB(Z WEBAE [dBE FERM 21T BE WM I 11 1
5 1096 REF BRI = s00 aes B 21 wE M@ [ 10 ]
6 1408 AYR B8 <= U= K rhEy 21 BE M [ 10 ]
7 1313 =@ BA  #35 o5k —Fh 21 BE M@ [ 10 ]
g 1291 2l KB w@rovx tos  —Eh 21T HE M@ [ il ]
[1500mzE - &F (G- ) RN, 5 257 10:55 BaRARsRS 11:10 |
BE BEFES BFKA IR IAN BFHH BX FX FE = Er3=) 55 ECER Bz

1 40 i EH =<5 BhH b | sy 1 288 B it [ 1L ]
2 3014 5% ®E CAD TPH B 29 1H B [ 1L 1
50miE - BF (8 - ZEE) RN, 6 27 11:05 BatARsRS 11:20 |
== BFKA IR IAN BFHH BX FX FE = Er3=) 55 ECER Bz

- 530 BSIL Z= hovE 25 BX[E™ 24 0P %R = 10 ]
_ 59 B BT apt 25 BREm U 1@ o’ nE [ il ]
[50mE - BF (&) sENo, T BE=T 11:09 BARARSRS 11:24 |
b=y EFES BFKA IO NIYAN BFHA BX FX FE = Er3=) 55 SCE% Bz

3 T4 ERKR BT TTE oups BRI 15 288 Bk H EF [ 10 ]
5 71 &L E5NH 35N J\IEEH 19 1% B ®m =F N I 11 ]
[50miE - BF (&) sEflo. 8 mE=T 11:11 BARARSRS 11:26 |
b=y EFES BFKA IO NIYAN BFHA BX FX FE = Er3=) 55 SCE% Bz

2 120 SH | LU 5% BX[E™ 16 0P B BF it [ 1L ]
4 121 BRE #ER  sUs 950 BEREh 19 o K =N il ]
6 122 EEE 24X [FEH 580N BX[E™ 19 0P B BF v [ 1L ]
50mE - BF (%) sERNo. 9 RE=T 11:13 BArARERS 11:28 |
V- RFES BFKA INDIyIYAN BFHH BX HX FE = %8 %5 Hwod Iz

2 11 IEE |A <¥>5 r<x BT 16 1% B @ =F AN [ 10 ]
4 55 Bf BEE LSWL EEF —Bgm 16 188 B ®mM EEF N I 1L ]
6 41 (kB Bz TES EULE bt 18 28 B BF N [ 1r 1



[50miE - BF (B - &) gEfNo. 10 BE=T 11:15 BAr4EER 11:30 |
b=y BFES EFKHA )R EFEHHA BX FX FE = %8 5 SCE% Iz

4 102 BEEE F APLE 50 2] 26 188 EE F 1L ]
5 1027 4K FT_R sTE rLS 24y 27 0P 40 1L 1
6 1221 &7 18 TE5 PAT Bl 27 0P 40 7 10 ]
[50mE - BF () sENo. 11 =7 11:17 BABARRS 11:32 |
V- RFES BFKA INDIyIYAN BFHHA BX FX FE = E3=) %5 o Iz

4 1343 INE BEX BTD B JN\IEEH 21T vE M o 10 ]
5 1002 FEE FK LEIh 3% BERATT 21T D& @ " 10 ]
6 1484 1BE |E  a<Lx nue  FEE 21 bE M 10 ]
[50miE - BF () EERNo. 12 BE=T 11:19 BsaRsRY 11:34 |
V- EEES BERS AU BEERL B £ X = %8 =5 Bz

4 1489 A fEZX YEHE KUT — =T 27 DE A 1t ]
5 1268 88k EFE  ves ik EEF 21 bE M 10 ]
6 1394 [LUO =R PES FALA F==ii] | 27 E WM A 1L ]
[50mzE - BF (50) sERNo. 13 mE=T 11:2] BARARSRS 11:36 |
== BFKA IR~ BFHHA BX FX FE = %8 SCER Bz

4 1483 BE % B<T5 HOn  EERE 21 ME 0 10 ]
5 1432 KE EE ser puss  SoIEE 21 ME 10 ]
6 1030 xF EBX BAN LA BRI 2T LE M 1L 1
[50miE - BF (40) RN, 14 BE=T 11:23 BAr4RERS 11:38 |
b=y EFES EBFEKHA )R EFHA BX EX FE = %8 ECE% Bz

3 1448 BEA HBR <FmL rev ERET 21 BE A [ 10 ]
4 1297 Rl kiB sBLpn cv03  EA™ 21 FE A [ 1L 1
5 1463 UK BEZE PEEE BT BKHT 21T & bl [ 1L ]
6 1499 Heh HE LoD RIS B 27T & 0 [ 1L 1
[50miE - BF () N0, 15 BE=T7 11:25 BAraRERS 11:40 |
b=y BFES BFKHA MY HIR BFHH BEX HX FE = E32) o d (¢

4 1450 FOL PR DYE NS = RET 21T & bl 1L 1
5 1308 fkmE #f TES BOL ZRmMm 21T BE MW 11 ]
6 1498 BEER XA HUDS  HHE BRI 21 FE A 11 1
[50mzE - BF (30) gERNo. 16 2E=7 11:27 BsARSRS 11:42 |
V- RFES BFKA IR~ RBFHH BX FX FE = Er3=) ECER Bz

4 1220 HgER E IHEFS DY b | sy 27T & vl 1L ]
5 1497 BKTE B BRYNETH DET 24y 21T & bl 1L 1
6 1164 FlE A= w5 rus S 21 BE M 10 ]
[50mE - BF (40) sERNo. 17 BE=7 11:29 pAraRERS 11:44 |
b=y BFERS BFKHA INDIYIYAN BFHH BX HX FE = %8 %5 Hwod (¢

2 1072 B #X SN HFOT BRI 2T HE @ oI 1L 1
3 1166 5 HFH D KUFET g™ 27 =% M B [ 1L ]
4 1190 B R hEL DES tEm 27T H=E 0 [ 1L 1
5 1417 SE XM sUr osne  FERIEET 21 HE 50 [ 10 ]
6 1449 PR HE ckL FTUC F=La=Lil] 27T H=E 0 [ 1L 1
[50miE - BF (8) sENo. 18 BE=T 11:31 BAsARSRS 11:46 |
b=y EFES BFKA IO NIYAN BFHA BX FX FE = Er3=) SCE% Bz

3 3040 BEBH BE;m L BWB b |l nl 29 1= % [ 11 ]
4 3063 Bk RE v oov BT 29 1 % [ 10 ]
5 3091 MR HF  ceEs wiAn —FE 29 1 % [ 10 ]
6 3081 #dF 3F FOXF Unh KT 29 2 % [ 10 1



[50mzE - «F (&) RN, 19 BE=T 11:33 BsaRsRg 11:48 |
b=y BFES EFKHA )R EFEHHA BX FX FE = %8 5 SCE% Iz

4 20 FRH X E572 & BX[E™ 4 B B N 1 ]
5 92 dbiE B EF50£5 HEQ SORET 22 0P B X0 N 1L 1
6 13 N\&F T BN LLO BT 22 18 BX 4N " 11 1
l50miE - &F (B s, 20 g7 11:35 BARARERS 11:50 |
b=y EFEFS EBFEKHA )R EFHHA BX FX FE = #®=8 5 SCE% B4z

) 2 KM FE  Fur 550 ] 16 1% B #F N 10 ]
4 T8 WH B 20 & ERh 16 28 & =F 1 i ]
6 101 2B SF  <o%p Ladc  AREET 18 2 K sF 7 1L ]
lsomzE - £F (8- #8) N0, 21 BE=T 11:37 BRABRS 11:52 |
V- RFES BFKA INDIyIYAN BFHHA BX FX FE = #8 sC8% =i

3 516 Rl —#% BLWHD HFR —RamH 25 28F R [ 1t ]
4 3041 A iR FoF Us it 29 1% B A [ 1T ]
5 3085 /B ZERR B HIE REEET 29 15 B [ 1t ]
6 3087 JIlE XF MOh# HOC F=pa=Lil] 29 2B # [ 1t ]
ls0mzE - #F (38 - B - 50) g0, 22 BE=T7 11:39 BItARsRY 11:54 |
b=y EFES EBFEKHA INVOR AN EFHA BX FX FE = ®=8 ECE% Bz

2 528 FEEINl LTH B LIH SRIRHET 25 1# #® ow@ [ 1L 1
4 43 RE FB  rOE 505 NEET 2 1% B A [ i ]
5 1304 AR &R P55 BIE —Fm 27 0P 40 [ 10 1
6 1354 FE BT 5E o Bl 21 0P m W oI 1 ]
[somzE - %F (50) slNo. 23 mE=T 11:4] BLRsES 11:56 |
== BFKA INDyIYAN EFEA BxX FX FE = #*8 55 SCER Bz

4 1227 A5E WER gExp & it 21 WE M 7 1 ]
5 1353 =S = MEL HLE B 27 HF M A N 1L ]
6 1490 /& =B BO H03 —pRHEr 2T P& A 11 ]
[somzE - «F (50) srNo, 24 =T 11:43 BERARSRY 11:58 |
-y BEES  BFRE BB EEME BX &K e = £8 o Btz

3 1152 & KIEF o~ wsc =h 21 BE M@ [ 1 ]
4 N3 Bl FREF ovs san BET 21 BE A [ 10 ]
5 1381 & ZMEF  rsiEs ssc ERW 21 BE A [ 10 ]
6 1200 1EE BE w5 o= e 21 BE A [ 10 ]
[somzE - %F (50) slo. 25 BE=T 11:45 BARSRS 12:00 |
== BFKA INDINIYAN EFEZ BxX FX FE = #*=8 ECER Y

4 1447 BlL 1BFE [F72IFPFR D3IE =5RAET 27T & 53] 1L 1
5 1153 &0 #&F  pres duh BETH 21 BE A 10 ]
6 1131 TH BEEBE 51 aun BX[E™ 27T & 53] 1L 1
[somzE - &F (40) slo. 26 BE=T 11:47 BEABSRS 12:02 |
b=y BFERS BFKHA INDIYIYAN EFEH BX HX FE = #8 %5 o8k (¢

4 1247 HEE BETF OaIEh sl b| sy} 2T 8% ®\| &/ o 1L ]
5 1261 N EfE  svE pIH EHT 21 BE M@ 10 ]
6 1382 =8 ZHHE EDEL o R 27 B/E A 10 1
[somzE - %F (40) sNo. 27 BE=T 11:49 BIgsesES 12:04 |
b=y EFES BFKA IO NIYAN BFHA BX FX FE = Er3=) SCE% Bz

4 1260 FIER BEF s waC et 21 HE M 1 ]
5 1467 RA THL  Thtr Ty FFEN 2T HE M 1[ 1
6 1265 (P FEF ve> sic EE 21 HE M 1 ]



l100m#E - BF () srNo. 28 BE=T 11:55 BARARsRY 12:10 |
b=y BFES EFKHA )R EFEHA BX FX FE = Er3=) 5 SCE% Iz

3 2 BA BIE  &Ur buc B 14 1% B e 1 ]
5 119 4K fEE = @Z=2p BRI 19 188 B% BHF [ 11 ]
l100m#E - BF () g0, 29 mE=T 11:58 BaRARSRY 12:13 |
V- BEES BERE SYHE EFRE BX X e B £E B 5 Bz

4 36 FIR BEEN shen LAy JbET 2 m K [ 1 ]
5 21 MHE RE 3EE osas BEfE 21 2 KX [ 1L ]
6 67 Hf 5 L5 HEH —Fm 21 288 B [ 10 1
loomzE - BF GB) g0, 30 =T 12:01 BIeEses 12:16 |
V- BEES = BFRS BUBE BFRE BX @ &£X X = £8B 8 o5 ez

2 532 BE & <FES LD BT 24 18 48 L 11 ]
4 504 KA E=  ©5%> LA BEEH 25 1m 8 A Nl i ]
5 523 BEE IS suns wie  EORET % 1m @ [ 1 ]
6 526 RHE B WFak rEng  (EHET 25 2 ] [ 10 1
[100mzE - BF () o, 31 BE=T 12:04 BaBsRg 12:19 |
b=y EFES EBFEKHA )R EFHA BX EX FE = %8 55 ECE% Bz

3 20 NE BgE sE5 ok T 26 1m B F 0 1 ]
4 703 RE® IR <FR BB 2354 26 1% B C 1L 1
5 06 IR THl B B 26 1m B =3 1 ]
6 739 LBk Az TES ELS —amH 26 1ER EE g [ 10 1
7 01 HIE B vesru sve W 26 1m B =3 1 ]
[100mzE - B2F () g0, 32 BE=T 12:07 BEARSRS 12:22 |
-y BFES = BFRS BB BFRE BX &K I = 0 £8 8 Ee Bz

3 1149 bl ®E  savE cux =EW 21 WE ® [ 1 ]
4 1433 828 1@ BEz» DRE  TSET 21 vE M [ 1 ]
5 1277 KR B ce> son —Pgr 21 WE @ [ 1 ]
6 1293 EK HE  LaT o5& BEREET 27 ME M [ 10 ]
71012 88 #HE  serc uwos BT 21 bE M [ 11 ]
[100mE - BF () g0, 33 =7 12:10 BIeEsE 12:25 |
- mFEE  EERS HYBE EEEE B EX @ B %82 F 258 Btz

3 1003 @ D wes> I3 2 ) 27T E M OB [ 10 1
4 1351 BiE K ErEL Bur BNE 21 ME M [ 11 ]
5 1210 INFF BB— soTs Leans Lk 27 DFE f0 [ 1L ]
6 1441 BB ¥A& wern o> LA 21 WE @ [ 1 ]
7 1488 EAK BRI saE pue —FRET 21 WE @ [ 1 ]
[100mzE - B2F () g0, 34 BE=T 12:13 BEREsES 12:28 |
I BFES  EFRA SUBE EFME 20O BEK EX XM 8 %R B o) (=0

3 1446 BB HE son cow LLIFRET 21 HE M [ 10 ]
4 1405 fRE M MW pLE SORET 27T % ®\M & [ 1L ]
5 1303 EE RE <BED Bh —Pm 27T »E A [ 10 1
6 1014 £ K ce> Bar R 21 WE & [ 1 ]
7 1531 RER ME  BR LnY 2 s} 21 bE M [ 11 ]
[100mzE - BF () o, 35 BE=T 12:16 BARSRS 12:31 |
b=y BFERS BFKHA INDNIYAN BFHH BX HX FE = %8 %5 Hwod (¢

3 1352 BX & moER ZA B 21 WE & [ 1 ]
4 1011 o 3R woos vxe  BEW 21 WE & [ 1 ]
5 1429 {£EkE E2 TES HUP & 4 BT 2T HE M@ [ 10 1
6 1231 BIE ¥ rpEL Ls>  dLET 21 ME M [ 10 ]



l100m#E - BF () g0, 36 mE=T 12:19 BEgaRsEe 12:34 |
b=y BFRS EFKHA INDFaAN EFEH BX FX FE = Er3=) Lo B [[E¥iva

3 1206 R it nes EEY b s o} 2T BE M [ 10 1
4 1071 BE K TEs RV BFE 21 BE M@ [ 10 ]
5 1331 B ¥ CAD FUS J\EF 21T &FE @ [ 10 1
6 1237 FHE H# 5 r<c S| 21 BE M@ [ 10 ]
7 1250 LIEE &G¥  cesv mpos  EEH 21 BE M@ [ 10 ]
[0omE - BF () g0, 37 =T 12:22 BteEsey 12:37 |
V- EEES BERS AU BEERL BX X & = %2 % 5 Bz

3 1387 ik Eth TVES FTP R 21 BE M OF [ 10 1
4 1209 K#E &3 88°F Loae JbETH 2T &JE M [ 1[ 1
5 1145 SEIE G} wEes sne AW 21 BE M@ [ 10 ]
6 1175 B 0B PEL KhAET 1 BE WM OB [ 10 ]
7 1500 HHA 3RE LUE f<ZE 2354 2T JE W [ 1L 1
[100mE - BF (G0 - %) safNo. 38 BE=T 12:25 BARARSRS 12:40 |
V- EFES BFEE BYHE EFEE BR FRK B O®E B2 & ) (v

3 3015 K #HE  &8L £=<z B 29 1% B [ 10 1
4 3064 3 BAER c<su 95135 HH 29 1 [ 10 ]
5 1258 ZMA =W rr cox0 EHTH 21T HE @ [ i ]
6 1066 FIEE HI— 1 BaLs BFET 21 fE @ [ 10 ]
[100mzE - 7 () g0, 39 =T 12:28 BosEsEe 12:43 |
b=y EFES BFKHZ INDFIYAN BEFEH BX EX FE = %8 LS B [[=¥iva

2 T30 BE HHMY D HHY bt 26 1ER EE F I 10 1
3 T3 INE BREE cub snv —[Em 26 1% EE F I 10 1
4 T8 FEA BE  5E Yin —ah 26 1T HE [ 10 ]
5 744 FEE BE Lve> o= I\BESE 26 1T HE B [ 10 ]
6 746 ST HE Ao sth BT 26 1T HE F [ 10 ]
7 T R #&F uvosb uoo (BN 26 2B BE F [ 11 ]
[100mzE - #F () saro. 40 BsEs=T 12:3] BEsEsEe 12:46 |
V- RFES BFKHA MY HIR BFHH BEX HX FE = E32) %5 o d L

2 1015 7AH & CLE BEE BRI 27T DE M [ 10 1
3 1150 KT F8  ssr5 503 =hm 21 VE A [ 10 ]
4 1430 FEO SELC THSE @FEE &4 IiFHET 27T DEFE M [ 1L 1
5 1435 kBE TR s a0 {EFRET 21 bE M [ 10 ]
6 1010 Pk K& nesS B 2 ) 27 »E A [ 10 1
7 1213 B BE snr aes —ah 21 bE M [ 10 ]
[100mE - ©F (5) s, 41 17 12:34 BIeEsES 12:49 |
V- RFES BFKHA DN~ BFHH BX HX FE = %8 %5 Hwod Y

3 1110 XA ZF BBUL BLY 24y 2T BE M [ 10 ]
4 1165 #aK =R TEE B BEhm 2T BE @ [ 10 1
5 1208 R F#E  susp s8v bk 21 BE M@ [ 10 ]
6 1108 JtE % SRR BIT BfET 21 BE M@ [ 10 ]
7 1407 WLt #F  osns u<c  KMET 21 HE W B NI 10 ]
[200miE - BF (BB grNo. 42 BE=T 12:45 BraRsES 13:00 |
b-y BFRS BFKA IR IVAN BFMA BX FX FE = Er3=) 55 EC8% [[E¥iva

3 T9 NE HK sES sok T 26 1T B F [ 10 ]
4 T2 BIE W mprL ecx  fEET 26 1% HE F [ 10 ]
5 745 L MY =<5 @59 B 26 18 B A FE [ 10 ]
6 758 MEE H} e sor  ERKE 26 1T HE F [ 10 ]



[200mzE - BF ¢0- %) sERNo. 43 BE=T 12:48 BsaRSRY 13:03 |
b=y BFES EFKHA )R EFEHHA BX FX B = %8 5 SCE% Iz

2 1004 R == AU T3EL 235 21T D& @ [ 1L 1
3 1176 s = TEUE LA KHET 21 HE M [ 10 ]
4 1217 ey B <FEDW HIN b| sy} 27 DE A [ 1L ]
5 1250 =5 #LE  anp sue AHETH 21 bE M [ 10 ]
6 3001 S 3K EUBL S B 29 1E OB [ 10 1
7 3049 N\FE HE  cikL vesn —FEm 29 1M [ 10 ]
200miE - BF (50 RN, 44 BE=T 12:51 BAr4EERS 13:06 |
b=y EFEFS EBFEKHA )R EFHHA BX FX B 5 =8 Lo T8 [[¥iva

3 1426 D KBl prex 23£35 &4 IEET 21 &FE A [ 11 ]
4 1241 BH BE  wro guc SIA] 21 BE M [ 10 ]
5 1292 =H Zx LUE hoE EgimA™m 27T BE M [ 11 1
6 1346 & 158 pue w53 BN 21 BE M oL 10 ]
7 1406 R @A sumn S50 KMET 21T HE M R P il ]
[200miE - %F (8 - 50) o, 45 1asE=T 12:54 BIaRsES 13:09 |
V- RFES BFKA INDyIYAN BFHHA BX FX FE = E3=) %5 o Iz

3 75 BB wOD ERE  EEH 26 1E B [ 10 ]
4 48 BEIR BEE  wIn otp SR 26 1E F [ 10 ]
5 1018 BBl ZEE <AL sUm B 21 SE M@ [ 11 ]
6 1493 BF ¥E L sow — T 21 SE M@ [ 10 ]
7 1151 MOEE Bk pes sL5 (e 21 HE M [ 10 ]
[400mE - BF (- %) BEENo. 46 BE=T7 13:05 BagaEsRs 13:20 |
b=y EFES EBFEKHA NV R YA EFHA BX EX FE = %8 LS B Bz

2 1016 WE T Fows pax  EEM 21 bE M@ [ 10 ]
3 1017 kB BA  Te5 d<x B 21 SE M@ [ 10 ]
4 1251 IUF #83F  vzLe pue REEH 21 SE M [ 10 ]
5 1271 FE — 51 pys —ah 21 E M [ 10 ]
6 3052 EFE PIA  ~Bm» Lise  —Fm 29 1®m B’ i ]
7 3084 $A HIK v o5r & 47 I5E] 29 1 [ 10 ]
[400mE - BF () kN0, 47 2= 13:08 BRtLEERY 13:23 |
b=y BFES BFKHA MY HIR EFHH BEX HX FE = E32) %5 o d L

3 1168 AHIE Bt 55LF 6P KARE 21 BFE A [ 1L ]
4 1274 %@ X LR ONB —Rah 21 BE M@ [ ]
5 1174 ANl XER WULHAD  Sidr¥ KE 21T & vl [ 1
6 1529 B [EFE  mrsx LedAl BFEH 21 BE M@ [ 10 ]
[800miE - BF (B -4 - ) BERRNo. 48 25T 13:15 BRt4ESRY 13:30 |
b=y BFES BFKHA MY HIR BFHH BEX HX FE = E32) %5 o d L

3 705 AR kM mros mus @M 26 & F [ 10 ]
4 1009 §%F EKX ZAD E5F B 21 E Mm [ 11 ]
5 1148 8 HE BOLE TEL =4 27 E A [ 1L 1
6 1299 JIIA =X MO Y& EZahi] 27 DEFE A [ 1L 1
7 3004 KE #H BB WS BRI 29 1= % [ ]
[800mzE - BF (40) N0, 49 BE=T 13:19 BtaeERs 13:34 |
b=y BFERS BFKHA INDIYIYAN BFHH BX HX FE = %8 %5 Hwod Y

3 1038 EFE #EA MW<HBH FAU BRI 27T & 53] [ 1L 1
4 1154 Tps &R <3 khe =4 27T & M B [ 1L 1
5 1172 €8 H—B =40 930535 KiGEM 27T & 53] [ 1
6 1218 % EE  cr> LAC S| 21 BE M@ [ ]
7 1487 IRk iHER <E5 pFTHE —5=HT 27 1E [ 10 ]
[800mzE - & F (BE - &) gBReNo. 50 BERT 13:23 BItLEERY 13138 |
V- RFES BFKA INDIyIYAN BFHH BX HX FE = %8 %5 Hwod Iz

4 T4 WHF BE FOEY nA BRI 26 1% EE F [ 11 ]
5 1013 =B REE aves zun | BEW 21T DE @ i il ]



